Dividing Monomials

@ Simplify each expression.

1) 1ldzzy 2) 2rzy
-2yz —2yz
3) M2z _ 4) 4z’ + 2y =
2yz
5) —4a:2y3 + 4y = 6) 242y’ _
4yz
7) 16x2* + 222 = 8) 152’z _
3yz
9) 16z%y® =+ 4y = 10) —16z%y®z _
2yz
11) —10z%y® + 2y = 12) 622y + 2y =
13) Loy 14) —24x22 + 4x2? =
—4yz
15) 6’z 16) 9228z
3yz 3yz
17) @ — 18) 152%g® + 3y =
“8yz
19) “9zzy _ 20) 322%z
—3yz dyz
21) 2o 22) 15z2% + 3z2% =
—-3yz
23) —3z%yP2 _ 24) —10z2y _
3yz —2yz
25) —9z2%2 + 3222 = 26) 10zzy _
—2yz
27) Bz _ 28) —18z2y® + 3y =
—2yz
29) —40z%y® + 4y = 30) 8= _

—4yz
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Answers of Dividing Monomials

@ Simplify each expression.

1) Moz _ 2) 2 _
) o Tz ) oz 1z
3) WPz _ Ta2e? 4) 4z + 2y =22%2
2yz
5) —da?y? = dy= — 1a%y 6 Hevs _ o2y
7) 16z2? + 2222 =8 8) 15;_21132 — B2y
Yz
2 .  Am2a2 —1622
9) 16x2y3 =+ 4y =42’y 10) 2‘;’}17133’ = — 8222
11) —10z2y® + 2y = — 5z 12) 6z%y® + 2y = 322y
13) 40:4! - — 10z 14) —24z2® + 4222 = — 6
“dyz
15) 6z2y32 _ 2 9 16) 922482 _ 2
S 2x°y S 3z y2
17) —_6;;11 — 9 18) 1522y + 3y = 5z¢°
19) =922y _ 20) 322%fz
) 3z — O ) = 8x%y?
21) Mem _ o 22) 15222 + 3222 =5
—3yz
23) —32%z _ 2,2 24) 1022y _
Tyz = —lz Y —2yz oz
25) 9222 + 3222 = —3 26) 1022y _ g
—2yz
27) y = 4z 28) —18z%y® + 3y = — 62%¢°
2z
29) —40z2y® + 4y = — 10222 30) 82 _ o,

—4yz



